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Disclaimer

 We disclaim any warranties or representations as
to the accuracy or completeness of this material.

Materials are provided “as is” without warranty of
any kind, either express or implied, including
without limitation, warranties of merchantability,

fitness for a particular purpose, and non-
infringement.

Under no circumstances shall we be liable for any
loss, damage, liability or expense incurred or
suffered which is claimed to have resulted from
use of this material.
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Goal

— This lecture aims at presenting an ADT suitable
for searching: Search Tree, the related
operations, and the visiting techniques.
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Prerequisites

 Lectures:
— 8 2.1 Introduction to ADT
— 8 6.1 Trees

Slide # 8 8.3.5 Rel. 07.04.2019 © Prinetto - 2019



Further readings

« Students interested in a deeper look at the covered
topics can refer, for instance, to the books listed at
the end of the lecture.
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Outline



Outline
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Alberi binari di ricerca

alberi binari di ricerca Binary Search Tree
(BST)
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Ne consegue che
una visita inorder
fornisce tutti gli
elementi ordinati in
modo crescente



Alberi binari di ricerca (contd
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Il BST come ADT

dizionari
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Ricerca
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Ricerca (cont’d)
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Ne consegue che
la ricerca dr un dato
comporta al piv un
numero di confronti

pari all ‘altezza
dell ‘albero



Ricerca (cont’d)
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Ricerca (cont’d)
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Inserimento
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Inserimento : Esempio

10
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Inserimento : Esempio

Confronto:
x <> t.chiave ?
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Inserimento : Esempio

x < t.chiave
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Inserimento : Esempio

Confronto:
x <> t.chiave ?
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Inserimento : Esempio

x > t.chiave
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Inserimento : Esempio

Confronto:
x <> t.chiave ?
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Inserimento : Esempio

x < t.chiave
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Inserimento : Esempio

Confronto:
x <> t.chiave ?
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Inserimento : Esempio

x > t.chiave

Slide # 8_8.3.27



Inserimento : Esempio

t = nil
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Inserimento : Esempio




Sbilanciamento
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Sbilanciamento: Esempio
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Ne consegue che
record diversi
possono avere

temps di accesso

molto diversi



Sbhilanciamento: Complessita

completamente bilanciato
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Costo del bilanciamento
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Costo del bilanciamento (contd)
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Costo del bilanciamento (contd)
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Cancellazione
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Cancellazione (contd)
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Cancellazione (contd)
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Cancellazione (contd)
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Outline
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Altri tipi di Alberi
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Altri tipi di Alberi
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